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2. 1809 = 17 radian

T-2 C
1. Sing == 4. Cosec == H
s '
2. Cosf =— 5. Sec =— P
P 5
3. tanf =— 6. Cotl =— 0
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Some people have curly brown hairs through proper brushing.
OR
Pandit Badriprasad har har bole, sona chandi tole.
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S = Sin6
C = Coso
T = Coto
T-3
1. Sing = 4. Cosecd =——
CosecO Sin6
2. Cos6 = 56160 5. Sech = o
3. tanf =——— 6. Cotf =
Cotf tan6
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T-4

Sin%0 + Cos?6 =1

OR
Sin%?0 = (1 — Cos?0)

OR
Cos?0 = (1 — Sin?%0)
1 + tan?6 = Sec?6
1+ Cot?8 = Cosec?8

tanf = Sinf 5. Cotf = a_)se
Cos@ Siné
QII A9Q0 QI

Sinf = + ve Sinf = +ve

CosecO = +ve CosO = +ve

tanf = +ve

Cotf = +ve

Sec = +ve

CosecH = +ve

380O

tanf = +ve CosB = +ve
Cotl = +ve Sec = +ve
QIII QIV
v
2700
Add Sugar To Coffee
A S T C

A = All trigonometric ratios are positive in QI
S =8inf & Cosec 0 are positive in QII

T = tanf & Cot0 are positive in QIII

C = CosO & SecH are positive in QIV

T-5 T-6
Sin (90° — @) = CosH 1.Sin (90° + 8) = + CosH
Cos(90° — @) = Sind 2.C0s(90° + ) = — Sinf
tan(90° — 9) = Coth 3.tan(90° + 8) = — Coth
Cot(90° — ) = tan® 4.Cot(90° + 8) = — tand
Sec(90° — 8) = Cosech 5.Sec(90° + 8) = — Cosech
Cosec(90° — @) = Sech 6. Cosec(90° + ) = + SecO
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T-7
Sin(180° — @) = + Sind
Cos(180° — 0) = — CosO
tan(180° — 8) = — tanb
Cot(180° — 8) = — Coth
Sec(180° — ) = — Sech
Cosec(180° — 6) = + CosecO

Sin(—0) = — Sind
Cos(—60) = + Cos6
tan(—0) = — tanb
Cot(—6) = — Cot0

T-8
1. Sin(180° + 6) = — Sind
2.Cos(180° + 6) = — Cosb
3. tan(180° + 0) = + tanfb
4. Cot(180° + @) = + Cot8
5. Sec(180° + 0) = — Sech
6. Cosec(180° + ) = — CosecO

T-9

Sec(—0) = + SecH
Cosec(—0) = — Cosech

Note:- Sin(2nm + 6) = Sinf

Cos(2nm + 6) = Cos0
tan(2nm + 6) = tanb

Sin (A + B) = SinA CosB + CosA SinB

Sin (A — B) = SinA CosB — CosA SinB

Cos (A + B) = CosA CosB — SinA SinB
Cos (A — B) = CosA CosB + SinA SinB
tanA + tan B
tan A+ B) =
1-tanA tanB
tanA—-tanB
tan (A—B) =
1+tanA tanB
CotA CotB—1
Cot(A+B) =————
CotB+CotA
CotA CotB+1
Cot(A—B) =————

CotB—CotA

T-10



T-11
1. 2SinA cosB = Sin (A+ B) + Sin (A —B)

2. 2CosASinB =Sin(A+ B) —Sin(A—B)
3. 2CosA CosB = Cos (A+ B) + Cos (A—B)

4. 2SinA SinB = Cos (A— B) — Cos (A+ B)

T-12
A+B _
1. Sind + SinB = 25in A8 cos (AZB)
A+B A-B
2. SindA — SinB = 2Cos L8 gin ¢ . )
A+B A-B
3. CosA+ CosB = 2Cos % Cosu
A+B A-B
4. CosA— CosB = —25in A8 gin ¢ : )
T-13 T-14 (Half Angle Formulae)
1. Sin2x = 2sinx Cosx 1. Sinx = ZSinx/ Cos x/
2 2
2tanx Ztanx/z
2. Sin2x = —— 2. Sinx = ——————
1+tan2x 1+tan2x/2
3. Cos2x = Cos?*x — Sin’x 3. Cosx = Coszx/z—Sinzx/Z
4. Cos2x = 2Cos*x —1 4. Cosx = Coszx/z—l
5. Cos2x =1 — 2Sin®x 5. Cosx = 1 — 2Sin? x/2
6 Cosay = 1—-tan?x - _ 1—tan2x/2
P LoSex = 1+tan?x P LOSE = 1+tan2x/2
2tanx 2tanx/2
7. tan2x = ——— 7. tanx = ————
1-tan?x 1—tan2x/2
8. Sin3x = 3Sinx — 4sin3x
9. Cos3x = 4Cos3x — 3cosx
3tanx—tan3x
10.tan3x =
1-3tan?x




